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QUESTION 1

See the following specification: 

How many test situations can be distinguished for this specification when the coverage type decision points modified
condition/decision is used? 

A. 2 

B. 6 

C. 8 

D. 64 

Correct Answer: C 

 

QUESTION 2

What is to be preserved in the activity reserving the testware? What is to be preserved in the activity? 

A. all testware created during the project 

B. a selection of the testware in consultation with the future administrator 

Correct Answer: B 

 

QUESTION 3

Is the checklist created to determine the test basis dependent on the selected test design technique? 

A. yes 

B. no 
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Correct Answer: A 

 

QUESTION 4

See the decision table below: 

Which coverage type has been used to create the decision table? 

A. Decision points condition/decision coverage 

B. Decision points modified condition/decision coverage 

C. Decision points multiple condition coverage 

Correct Answer: A 

 

QUESTION 5

There are two parties in the V model: 

-

the supplying party 

-

the accepting party 

Which system development phase or test phase is not performed by the supplying party? 

A. 

Functional design 
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B. 

Realization 

C. 

System test 

D. 

Technical design 

Correct Answer: D 
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